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(B)]TJ/F64 7.9701 Tf 6.45654 -1.636 Td [(1)]TJ/F66 10.9091 Tf 4.72 1.636 Td [(;).417(B)]TJ/F64 7.9701 Tf 5.8513 -1.636 Td [(2)]TJ//F66 10.9091 Tf 4.72 1.636 Td [(A)]TJ/515 10.9091 Tf (1.182 0 Td [=6)]TJ/F66 10.9091 Tf 1.5056 6 Td [((B)]TJ/F64 7.9701 Tf 6.4573 -1.636 Td [(2)]TJ/1F66 10.9091 Tf 4.72 1.636 Td [.7)]TJ
ET
1 0 0 1152.7988 962.665 cm
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 2000.02579 2000.02579 cm 
1 0 0 1 152.7988- 962.665 cm
BT
/F31 10.9091 Tf1577.478 962.665 Td [(⁄)]TJ/F24 10.9091 Tf 10.909 0 Td [(�A)]TJ/515 10.9091 Tf-1 183913 -16.259 Td [2(B1
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11]TJ
ET
q
1 0 0 1 124.6 47.511 cm
[]0 d 0 J 0.1 Tf 4.848 0 Td [(3)]TJ/F66 10.9091 Tf 5.2579 cm 
1 0 0 4.1 21.636 T2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
0 g 0 G
1 0 0 1 -283.458 -2.727 cm
1 0 0 1 2000.02579 2000.02579 cmm 
0 g 0 G
1 0 0 1 -283.458 -2.727 cm
1 0 0 1 2000.02579 2000.02579 cmm 
0 g 0 G
1 0 0 1 -283.458 -2.727 cm
1 0 0 1 2000.02579 2000.02579 cmm 
0 g 0 G
1 0 0 1 -283.458 -2.727 cm
1 0 0 1 2000.02579 2000.02579 cmm 
0 g 0 G
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0 g 0 G
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1 0 0 1 -2000.02579 -2000.02579 cm 
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1 0 0 1 -2000.02579 -2000.02579 cm 
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0 g 0 G
1 0 0 1 -283.458 -2.727 cm
1 0 0 1 2000.02579 -2000.02579 cm 
0 g 0 G
1 0 0 1 -283.458 -2.727 cm
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1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.025797 cm
BT
/F44 5.9776 Tf 77.687 265.484 Td [( 0 4.1 2-1.636 T200 5.977 0 Td [(K)]TJ/F17 5.9776 Tf 5.978 0 Td [(1.1)4 Td [( 0 4.1 2-1.636 T2009701 T20.2 0.2 0.7 R49 -12.98[(!)]TJ/35291 Tf 10.2.496 cm
0 0 181.417 9.0 0 1 93.8390.2 0.7 RG
ET
q
1 0 0 1 � 1 93.82 0.2 0.7 RG
ET
q81.417 9.0 327 7.9701 .2 0.7 RG
ET
q81.417 9.O91 Tf 10.2.496 cm
0 0 17TJ
ET
1 0 0 1 93.80 0.2 0.7 RG
ET
q81.417 9.0023 0 1 2000.02579 2000.
1 g 1 G
1 g 1 G
1 g 1 G
0 g 0 G
0.2 0.2 0.7 rg 0.2 0.2 0.7 RG
0 g 0 G
q
1 0 0 1 0 258.7101 Do
Q
0 g 0 G
0 g 0 G
0 g 0 G
0 g 0 G
1 g 1 G
1 0 0 1 0 237.509 cm
q 
1 G  [(S)]TJ/F45 5.977189.95 24998[(!)]TJ/41.91 Tf 10.2.496 cm
0 0 181.417 9.9091 Tf 10.2 0.7 RG
ET
q81.417 9.0223091 Tf 102.496 cm
0 0 17TJ
ET
1 0 59 10.9091 2.496 cm
0 0 181.417 9.6/F66 10.9.2 0.7 RG
ET
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1 0 0 1 �1 93.80 0.2 0.7 RG
ET
q81.417 9.03310 J 0.1 T.2 0.7 RG
ET
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1 0 0 1 $15 10.909.2 0.7 RG
ET
q81.417 9.021 1 93.8249.2 0.7 RG
ET
q81.417 9.7 rg 0.2 0.2 0.7 RG
f 474�)]TJ/F66 10. 10.2 0.7 RG
f 474�)]TJ/2579 2000. 10.2 0.7 RG
f 474�
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xk+1 =26.098 Td [(x)]TJ/F6278 Tf 7.7678 26.098 Td [(F6461 0 0 1 2f 10.197 -1.778 Td [5)]TJ/F72 7.9701 Tf 4.6212 -15.936 Td [(=586 22 7.9701 T+F6222 Tf 10.909 0 Td [(k)]TJ6.363 0 0 1 2z 10.197 -1.778 Td [5)074/F64 7.9701 Tf 4.621 592 -16.259 Td76.505J/F64482 0 1 2f 10.197 -1.778 Td [5+1=26.0498 Td [(x)]TJ/F4.621 0 Td [(+1)]T/F6413.10291 0 0 1 81.815 212.699 cm
10]TJ79 0 1 -82  w 0 0 m 4.234 0 l S
Q
BT
/F64 7.9701 Tf 98.403 189.951 Td 10]TJ79 9 -993 0 0 1 98.412 1.778 Td [(;)-142 3.k
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13.)duü Ý
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A3 = 0§

¤±

(I +A)(I −A+A2) = (I −A+A2)(I +A) = I +A3;

(I −A)(I +A+A2) = (I +A+A2)(I −A) = I −A3

¤±§3A3 = 0�§I +A; I −Aþ�_§�
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